

Bid Tabulation 2017 LDFA Paving Improvements City of Wixom

Bids Due: 3/7/2017 HRC Job # 20150190

Cadillac Asphalt 51777 12 Mile Wixom, MI 48393 248-380-3645 Florence Cement Co 12585 23 Mile Rd. Shelby Twp, MI 48315 586-997-2666 Pro-Line Asphalt Paving 11797 29 Mile Rd. Washington, MI 48095 586-752-7730

	Item	Qty	Unit		Unit Price	Total Cost	Unit Price	Total Cost	Unit Price	Total Cost
	DIVISION I - WIXOM TECH DRIVE & V		ECH	DRI						
1	Curb and Gutter, Rem	1,300	ft	@	\$14.00 =	\$18,200.00	\$16.00 =	\$20,800.00	\$14.16 =	\$18,408.00
2	Cold Milling Concrete Surface, 3 inch	7,880	syd	@	\$2.60 =	\$20,488.00	\$4.10 =	\$32,308.00	\$4.52 =	\$35,617.60
3	Pavt, Rem	400	syd	@	\$10.00 =	\$4,000.00	\$6.75 =	\$2,700.00	\$12.10 =	\$4,840.00
4	Pavt Joint and Crack Repr, Det 7	6,840	ft	@	\$5.00 =	\$34,200.00	\$4.15 =	\$28,386.00	\$6.00 =	\$41,040.00
5	Pavt Joint and Crack Repr, Det 8	760	ft	@	\$6.00 =	\$4,560.00	\$9.00 =	\$6,840.00	\$7.00 =	\$5,320.00
6	Sign, Rem	9	ea	@	\$10.00 =	\$90.00	\$100.00 =	\$900.00	\$10.00 =	\$90.00
7	Saw Cut, 3 inch	5,880	ft	@	\$0.40 =	\$2,352.00	\$0.35 =	\$2,058.00	\$1.30 =	\$7,644.00
8	Excavation, Earth	90	cyd	@	\$10.00 =	\$900.00	\$0.01 =	\$0.90	\$68.00 =	\$6,120.00
9	HMA, 4C MOD	880	ton	@	\$77.00 =	\$67,760.00	\$86.00 =	\$75,680.00	\$90.69 =	\$79,807.20
10	HMA, 36A MOD	440	ton	@	\$92.00 =	\$40,480.00	\$111.50 =	\$49,060.00	\$97.82 =	\$43,040.80
11	Glas Pave 50	7,880	syd	@	\$4.50 =	\$35,460.00	\$4.44 =	\$34,987.20	\$4.48 =	\$35,302.40
12	Aggregate Base, 21AA Limestone, 6 inch	584	syd	@	\$5.75 =	\$3,358.00	\$0.01 =	\$5.84	\$17.29 =	\$10,097.36
13	Conc Pavt, Nonreinf, 4 inch	400	syd	@	\$28.50 =	\$11,400.00	\$49.85 =	\$19,940.00	\$30.27 =	\$12,108.00
14	Curb and Gutter, Conc	1,300	ft	@	\$22.50 =	\$29,250.00	\$24.85 =	\$32,305.00	\$23.82 =	\$30,966.00
15	HMA Plane of Weakness Joint	12,180	ft	@	\$1.00 =	\$12,180.00	\$1.00 =	\$12,180.00	\$1.00 =	\$12,180.00
16	Sign, Install	11	ea	@	\$250.00 =	\$2,750.00	\$125.00 =	\$1,375.00	\$250.00 =	\$2,750.00

						Cadillac Asphalt 51777 12 Mile Vixom, MI 48393	125	ence Cement Co 685 23 Mile Rd. Twp, MI 48315	Pro-Line Asphalt Paving 11797 29 Mile Rd. Washington, MI 48095		
						248-380-3645		586-997-2666	586-752-7730		
	Item	Qty	Unit		Unit Price	Total Cost	Unit Price	Total Cost	Unit Price	Total Cost	
17	Dr Structure Cover, Adj	18	ea	@	\$450.00 =	\$8,100.00	\$365.00 =	\$6,570.00	\$650.00 =	\$11,700.00	
18	Dr Structure, Reconst	29	ft	@	\$225.00 =	\$6,525.00	\$385.00 =	\$11,165.00	\$210.00 =	\$6,090.00	
19	Dr Structure Cover	2,400	lb	@	\$2.75 =	\$6,600.00	\$1.55 =	\$3,720.00	\$1.51 =	\$3,624.00	
20	Structure, Clean and Point	64	ea	@	\$140.00 =	\$8,960.00	\$300.00 =	\$19,200.00	\$300.00 =	\$19,200.00	
21	Pvt Mrkg, Cold Plastic, Crosswalk, 6 inch	60	ft	@	\$2.95 =	\$177.00	\$2.95 =	\$177.00	\$2.98 =	\$178.80	
22	Pvt Mrkg, Cold Plastic, Stop Bar, 24 inch	33	ft	@	\$15.00 =	\$495.00	\$15.00 =	\$495.00	\$15.14 =	\$499.62	
23	Inlet Filter	18	ea	@	\$125.00 =	\$2,250.00	\$70.00 =	\$1,260.00	\$95.00 =	\$1,710.00	
24	Sod and 3 inch Topsoil	2,900	syd	@	\$5.50 =	\$15,950.00	\$0.01 =	\$29.00	\$5.20 =	\$15,080.00	
25	Irrigation Repair Allowance	5,000	dlr	@	\$1.00 =	\$5,000.00	\$1.00 =	\$5,000.00	\$1.00 =	\$5,000.00	
26	Street Signs and Posts Allowance	5,000	dlr	@	\$1.00 =	\$5,000.00	\$1.00 =	\$5,000.00	\$1.00 =	\$5,000.00	
27	Audio-Video Route Survey				Lump Sum =	\$1,070.00	Lump Sum =	\$1,000.00	Lump Sum =	\$1,009.06	
28	Maintaining Traffic				Lump Sum =	\$27,000.00	Lump Sum =	\$16,000.00	Lump Sum =	\$10,000.00	
29	Mobilization				Lump Sum =	\$29,000.00	Lump Sum =	\$22,000.00	Lump Sum =	\$1,000.00	
	Total Amount Division I				-	\$403,555.00	_	\$411,141.94	_	\$425,422.84	

						Cadillac Asphalt 51777 12 Mile Wixom, MI 48393 248-380-3645	Florence Cement Co 12585 23 Mile Rd. Shelby Twp, MI 48315 586-997-2666		1179	Asphalt Paving 7 29 Mile Rd. ton, MI 48095 586-752-7730	
	Item	Qty	Unit		Unit Price	Total Cost	Unit Price	Total Cost	Unit Price	Total Cost	
	DIVISION II – FRANK STREET & ANTH	HONY D	RIVE								
1	Pavt, Rem	8,000	syd	@	\$2.40	= \$19,200.00	\$2.50 =	\$20,000.00	\$5.27 =	\$42,160.00	
2	Curb and Gutter, Rem	860	ft	@	\$10.00	= \$8,600.00	\$18.85 =	\$16,211.00	\$10.00 =	\$8,600.00	
3	Sign, Rem	7	ea	@	\$50.00	= \$350.00	\$100.00 =	\$700.00	\$10.00 =	\$70.00	
4	Underdrain, 6 inch	4,600	ft	@	\$10.00	= \$46,000.00	\$13.00 =	\$59,800.00	\$15.00 =	\$69,000.00	
5	Dr Structure Tap, 6 inch	10	ea	@	\$500.00	= \$5,000.00	\$140.00 =	\$1,400.00	\$250.00 =	\$2,500.00	
6	Excavation, Earth	3,120	cyd	@	\$13.00	= \$40,560.00	\$16.40 =	\$51,168.00	\$18.56 =	\$57,907.20	
7	Aggregate Base, 21AA Limestone, 6 inch	370	syd	@	\$6.00	\$2,220.00	\$0.01 =	\$3.70	\$12.50 =	\$4,625.00	
8	Aggregate Base, 21AA Limestone, 4 inch	7,900	syd	@	\$6.00	= \$47,400.00	\$6.65 =	\$52,535.00	\$4.95 =	\$39,105.00	
9	Aggregate Base, 1x3, 8 inch	7,900	syd	@	\$6.00	= \$47,400.00	\$6.70 =	\$52,930.00	\$5.29 =	\$41,791.00	
10	HMA, 4C MOD	880	ton	@	\$78.00	\$68,640.00	\$88.00 =	\$77,440.00	\$89.38 =	\$78,654.40	
11	HMA, 2C	1,760	ton	@	\$60.00	= \$105,600.00	\$77.00 =	\$135,520.00	\$75.62 =	\$133,091.20	
12	HMA Approach, 4C MOD	40	ton	@	\$140.00	= \$5,600.00	\$230.00 =	\$9,200.00	\$133.61 =	\$5,344.40	
13	HMA Approach, 2C	70	ton	@	\$125.00	= \$8,750.00	\$130.00 =	\$9,100.00	\$123.51 =	\$8,645.70	
14	Subgrade Undercutting, 1x3	240	cyd	@	\$41.00	\$9,840.00	\$32.00 =	\$7,680.00	\$35.78 =	\$8,587.20	
15	Geogrid, TX 190L	7,900	syd	@	\$4.50	= \$35,550.00	\$6.30 =	\$49,770.00	\$5.79 =	\$45,741.00	
16	Curb and Gutter, Conc	750	ft	@	\$22.50	= \$16,875.00	\$24.85 =	\$18,637.50	\$23.82 =	\$17,865.00	
17	Driveway Opening, Conc, Det M	160	ft	@	\$25.00	\$4,000.00	\$24.85 =	\$3,976.00	\$26.44 =	\$4,230.40	

						Cadillac Asphalt 51777 12 Mile Wixom, MI 48393 248-380-3645	Shelby Twp, MI 48315 Washington, MI			97 29 Mile Rd.
	Item	Qty	Unit		Unit Price	Total Cost	Unit Price	Total Cost	Unit Price	Total Cost
18	Sign, Install	11	ea	@	\$250.00 =	\$2,750.00	\$125.00 =	\$1,375.00	\$250.00 =	\$2,750.00
19	Dr Structure Cover, Adj	12	ea	@	\$525.00 =	\$6,300.00	\$315.00 =	\$3,780.00	\$650.00 =	\$7,800.00
20	Dr Structure, Reconst	14	ft	@	\$150.00 =	\$2,100.00	\$290.00 =	\$4,060.00	\$210.00 =	\$2,940.00
21	Dr Structure Cover	1,200	lb	@	\$2.75 =	\$3,300.00	\$1.55 =	\$1,860.00	\$1.51 =	\$1,812.00
22	San Structure Cover, Adj	6	ea	@	\$750.00 =	\$4,500.00	\$875.00 =	\$5,250.00	\$1,000.00 =	\$6,000.00
23	San Structure Cover	6	ea	@	\$450.00 =	\$2,700.00	\$453.00 =	\$2,718.00	\$600.00 =	\$3,600.00
24	Structure, Clean and Point	40	ea	@	\$170.00 =	\$6,800.00	\$150.00 =	\$6,000.00	\$300.00 =	\$12,000.00
25	Pvt Mrkg, Cold Plastic, Stop Bar, 24 inch	28	ft	@	\$20.00 =	\$560.00	\$20.00 =	\$560.00	\$20.18 =	\$565.04
26	Inlet Filter	10	ea	@	\$150.00 =	\$1,500.00	\$70.00 =	\$700.00	\$95.00 =	\$950.00
27	Sod and 3 inch Topsoil	2,500	syd	@	\$5.50 =	\$13,750.00	\$0.01 =	\$25.00	\$5.20 =	\$13,000.00
28	Dust Palliative, Applied	25	ton	@	\$50.00 =	\$1,250.00	\$100.00 =	\$2,500.00	\$80.00 =	\$2,000.00
29	Irrigation Repair Allowance	5,000	dlr	@	\$1.00 =	\$5,000.00	\$1.00 =	\$5,000.00	\$1.00 =	\$5,000.00
30	Street Signs and Posts Allowance	5,000	dlr	@	\$1.00 =	\$5,000.00	\$1.00 =	\$5,000.00	\$1.00 =	\$5,000.00
31	Audio-Video Route Survey			@	Lump Sum =	\$945.00	Lump Sum =	\$900.00	Lump Sum =	\$908.15
32	Maintaining Traffic			@	Lump Sum =	\$42,000.00	Lump Sum =	\$30,000.00	Lump Sum =	\$9,000.00
33	Mobilization			@	Lump Sum =	\$55,000.00	Lump Sum =	\$30,000.00	Lump Sum =	\$2,000.00
	Total Amount Division II					\$625,040.00	_	\$665,799.20	_	\$643,242.69

						Cadillac Asphalt 51777 12 Mile Wixom, MI 48393 248-380-3645	125	nce Cement Co 85 23 Mile Rd. Twp, MI 48315 586-997-2666	Pro-Line Asphalt Paving 11797 29 Mile Rd. Washington, MI 48095 586-752-7730	
	Item	Qty	Unit		Unit Price	Total Cost	Unit Price	Total Cost	Unit Price	Total Cost
	DIVISION IIIA – BECK ROAD (DAY W	ORK)								
1	Pavt, Rem	1,600	syd	@	\$4.00 =	\$6,400.00	\$6.75 =	\$10,800.00	\$11.00 =	\$17,600.00
2	Cold Milling Concrete Surface, 2 inch	66,680	syd	@	\$2.40 =	\$160,032.00	\$3.30 =	\$220,044.00	\$3.38 =	\$225,378.40
3	Pavt Joint and Crack Repr, Det 7	4,050	ft	@	\$4.00 =	\$16,200.00	\$5.40 =	\$21,870.00	\$6.00 =	\$24,300.00
4	Pavt Joint and Crack Repr, Det 8	450	ft	@	\$5.00 =	\$2,250.00	\$8.00 =	\$3,600.00	\$7.00 =	\$3,150.00
5	Saw Cut, 4 inch	20,100	ft	@	\$0.50 =	\$10,050.00	\$0.42 =	\$8,442.00	\$1.00 =	\$20,100.00
6	Sign, Rem	34	ea	@	\$10.00 =	\$340.00	\$100.00 =	\$3,400.00	\$9.79 =	\$332.86
7	Curb and Gutter, Rem	800	ft	@	\$4.00 =	\$3,200.00	\$22.20 =	\$17,760.00	\$10.70 =	\$8,560.00
8	HMA, 4C MOD	3,720	ton	@	\$70.00 =	\$260,400.00	\$84.00 =	\$312,480.00	\$82.33 =	\$306,267.60
9	HMA, 3C	3,720	ton	@	\$65.00 =	\$241,800.00	\$83.75 =	\$311,550.00	\$76.69 =	\$285,286.80
10	Glas Pave 50	33,340	syd	@	\$4.50 =	\$150,030.00	\$4.44 =	\$148,029.60	\$4.48 =	\$149,363.20
11	Conc Pavt, Nonreinf, 5 inch	1,600	syd	@	\$32.50 =	\$52,000.00	\$53.50 =	\$85,600.00	\$34.49 =	\$55,184.00
12	Curb and Gutter, Conc	800	ft	@	\$22.50 =	= \$18,000.00	\$24.85 =	\$19,880.00	\$23.86 =	\$19,088.00
13	HMA Plane of Weakness Joint	32,100	ft	@	\$1.00 =	\$32,100.00	\$1.00 =	\$32,100.00	\$1.22 =	\$39,162.00
14	Sign, Install	34	ea	@	\$250.00 =	\$8,500.00	\$125.00 =	\$4,250.00	\$244.74 =	\$8,321.16
15	San Structure Cover, Adj	3	ea	@	\$900.00 =	\$2,700.00	\$880.00 =	\$2,640.00	\$1,000.00 =	\$3,000.00
16	San Structure Cover	3	ea	@	\$500.00 =	\$1,500.00	\$453.00 =	\$1,359.00	\$600.00 =	\$1,800.00
17	Structure, Clean and Point	141	ea	@	\$300.00 =	\$42,300.00	\$240.00 =	\$33,840.00	\$300.00 =	\$42,300.00

					W	Cadillac Asphalt 51777 12 Mile Vixom, MI 48393 248-380-3645	125	ence Cement Co 585 23 Mile Rd. Twp, MI 48315 586-997-2666	Pro-Line Asphalt Paving 11797 29 Mile Rd. Washington, MI 48095 586-752-7730	
	Item	Qty	Unit		Unit Price	Total Cost	Unit Price	Total Cost	Unit Price	Total Cost
18	Pvt Mrkg, Regular Dry, Yellow, 4 inch	15,300	ft	@	\$0.12 =	\$1,836.00	\$0.12 =	\$1,836.00	\$0.12 =	\$1,836.00
19	Pvt Mrkg, Cold Plastic, Stop Bar, 24 inch	192	ft	@	\$10.00 =	\$1,920.00	\$10.00 =	\$1,920.00	\$9.79 =	\$1,879.68
20	Pvt Mrkg, Ovly Cold Plastic, Lt Arrow	4	ea	@	\$150.00 =	\$600.00	\$150.00 =	\$600.00	\$146.85 =	\$587.40
21	Pvt Mrkg, Ovly Cold Plastic, Rt Arrow	4	ea	@	\$150.00 =	\$600.00	\$150.00 =	\$600.00	\$146.85 =	\$587.40
22	Pvt Mrkg, Ovly Cold Plastic, Thru Arrow	4	ea	@	\$140.00 =	\$560.00	\$140.00 =	\$560.00	\$137.06 =	\$548.24
23	Pvt Mrkg, Ovly Cold Plastic, Only, Sym	6	ea	@	\$150.00 =	\$900.00	\$150.00 =	\$900.00	\$146.85 =	\$881.10
24	Pvt Mrkg, Ovly Cold Plastic, Railroad	2	ea	@	\$350.00 =	\$700.00	\$350.00 =	\$700.00	\$342.64 =	\$685.28
25	Inlet Filter	58	ea	@	\$125.00 =	\$7,250.00	\$80.00 =	\$4,640.00	\$95.00 =	\$5,510.00
26	Sod and 3 inch Topsoil	6,500	syd	@	\$5.50 =	\$35,750.00	\$0.01 =	\$65.00	\$5.04 =	\$32,760.00
27	Railroad Right of Entry Permit Allowance	20,000	dlr	@	\$1.00 =	\$20,000.00	\$1.00 =	\$20,000.00	\$1.00 =	\$20,000.00
28	Irrigation Repair Allowance	10,000	dlr	@	\$1.00 =	\$10,000.00	\$1.00 =	\$10,000.00	\$1.00 =	\$10,000.00
29	Street Signs and Posts Allowance	5,000	dlr	@	\$1.00 =	\$5,000.00	\$1.00 =	\$5,000.00	\$1.00 =	\$5,000.00
30	Audio-Video Route Survey			@	Lump Sum =	\$1,470.00	Lump Sum =	\$1,400.00	Lump Sum =	\$1,370.57
31	Maintaining Traffic			@	Lump Sum =	\$89,000.00	Lump Sum =	\$35,000.00	Lump Sum =	\$50,000.00
32	Mobilization			@	Lump Sum =	\$93,400.00	Lump Sum =	\$38,000.00	Lump Sum =	\$40,000.00
	Total Amount Division IIIA				•	\$1,276,788.00	•	\$1,358,865.60	•	\$1,380,839.69

Cadillac Asphalt
51777 12 Mile
Wixom, MI 48393
248-380-3645

Florence Cement Co 12585 23 Mile Rd. Shelby Twp, MI 48315 586-997-2666 Pro-Line Asphalt Paving 11797 29 Mile Rd. Washington, MI 48095 586-752-7730

	Item	Qty	Unit		Unit Price	Total Cost	Unit Price	Total Cost	Unit Price	Total Cost
	DIVISION IIIB – BECK ROAD (NIGHT									
1	Pavt, Rem	1,600	syd	@	\$15.00 =	\$24,000.00	=		=	
2	Cold Milling Concrete Surface, 2 inch	66,680	syd	@	\$3.00 =	\$200,040.00	=		=	
3	Pavt Joint and Crack Repr, Det 7	4,050	ft	@	\$7.00 =	\$28,350.00	=		=	
4	Pavt Joint and Crack Repr, Det 8	450	ft	@	\$6.00 =	\$2,700.00	=		=	
5	Saw Cut, 4 inch	20,100	ft	@	\$0.50 =	\$10,050.00	=		=	
6	Sign, Rem	34	ea	@	\$100.00 =	\$3,400.00	=		=	
7	Curb and Gutter, Rem	800	ft	@	\$15.00 =	\$12,000.00	=		=	
8	HMA, 4C MOD	3,720	ton	@	\$70.00 =	\$260,400.00	=		=	
9	HMA, 3C	3,720	ton	@	\$65.00 =	\$241,800.00	=		=	
10	Glas Pave 50	33,340	syd	@	\$5.00 =	\$166,700.00	=		=	
11	Conc Pavt, Nonreinf, 5 inch	1,600	syd	@	\$80.00 =	\$128,000.00	=		=	
12	Curb and Gutter, Conc	800	ft	@	\$90.00 =	\$72,000.00	=		=	
13	HMA Plane of Weakness Joint	32,100	ft	@	\$1.00 =	\$32,100.00	=		=	
14	Sign, Install	34	ea	@	\$250.00 =	\$8,500.00	=		=	
15	San Structure Cover, Adj	3	ea	@	\$2,000.00 =	\$6,000.00	=		=	
16	San Structure Cover	3	ea	@	\$1,000.00 =	\$3,000.00	=		=	
17	Structure, Clean and Point	141	ea	@	\$575.00 =	\$81,075.00	=		=	

Cadillac Asphalt
51777 12 Mile
Wixom, MI 48393
248-380-3645

Florence Cement Co 12585 23 Mile Rd. Shelby Twp, MI 48315 586-997-2666 Pro-Line Asphalt Paving 11797 29 Mile Rd. Washington, MI 48095 586-752-7730

	Item	Qty	Unit		Unit Price	Total Cost	Unit Price	Total Cost	Unit Price	Total Cost
18	Pvt Mrkg, Regular Dry, Yellow, 4 inch	15,300	ft	@	\$0.12 =	\$1,836.00	=		=	
19	Pvt Mrkg, Cold Plastic, Stop Bar, 24 inch	192	ft	@	\$10.00 =	\$1,920.00	=		=	
20	Pvt Mrkg, Ovly Cold Plastic, Lt Arrow	4	ea	@	\$150.00 =	\$600.00	=		=	
21	Pvt Mrkg, Ovly Cold Plastic, Rt Arrow	4	ea	@	\$150.00 =	\$600.00	=		=	
22	Pvt Mrkg, Ovly Cold Plastic, Thru Arrow	4	ea	@	\$140.00 =	\$560.00	=		=	
23	Pvt Mrkg, Ovly Cold Plastic, Only, Sym	6	ea	@	\$150.00 =	\$900.00	=		=	
24	Pvt Mrkg, Ovly Cold Plastic, Railroad	2	ea	@	\$350.00 =	\$700.00	=		=	
25	Inlet Filter	58	ea	@	\$150.00 =	\$8,700.00	=		=	
26	Sod and 3 inch Topsoil	6,500	syd	@	\$8.00 =	\$52,000.00	=		=	
27	Railroad Right of Entry Permit Allowance	20,000	dlr	@	\$1.00 =	\$20,000.00	=		=	
28	Irrigation Repair Allowance	10,000	dlr	@	\$1.00 =	\$10,000.00	=		=	
29	Street Signs and Posts Allowance	5,000	dlr	@	\$1.00 =	\$5,000.00	=		=	
30	Audio-Video Route Survey			@	Lump Sum =	\$1,470.00	=		=	
31	Maintaining Traffic			@	Lump Sum =	\$125,000.00	=		=	
32	Mobilization			@	Lump Sum =	\$144,000.00	=		=	
	Total Amount Division IIIB				-	\$1,653,401.00		No Bid		No Bid

			Cadillac Asphalt 51777 12 Mile		rence Cement Co 2585 23 Mile Rd.		e Asphalt Paving 797 29 Mile Rd.
			Wixom, MI 48393		y Twp, MI 48315		ngton, MI 48095
			248-380-3645	·	586-997-2666		586-752-7730
Item	Qty Unit	Unit Price	Total Cost	Unit Price	Total Cost	Unit Price	Total Cost
SUMMARY							
Total Amount Division I – Wixom & W	Vest Tech Drives		\$403,555.00		\$411,141.94		\$425,422.84
Total Amount Division II – Frank Stree	t & Anthony Drive		\$625,040.00		\$665,799.20		\$643,242.69
Total Amount Division IIIA – Beck Ro	ad (Day Work)		\$1,276,788.00		\$1,358,865.60		\$1,380,839.69
Total Amount Division IIIB – Beck Ro	ad (Night Work)		\$1,653,401.00		No Bid		No Bid
Total Amount of Bid with Division II	IA		\$2,305,383.00	\$2,435,806.74			\$2,449,505.22
Total Amount of Bid with Division II	IB		\$2,681,996.00		~		~

Summary of Other Bids
Ajax Paving Industries:

With Division IIIA- \$2,628,063.30 With Division IIIB- \$2,831,314.90